Math 251/221. WEEK in REVIEW 3. Fall 2024

. Te<h-2,15 TNa=<2, 1, 1>
1. (a) Find the angle between the planesle — 2y +jz =1 and 2z +}y + )z = L.

(b) Find svimetric equation for the line of intersection of the planes.
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2. Find the distance from the point @@ @ to the plane 4z — 6y + 2z = 3.
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3. Match the equation with its eraph. Give reasons for your choice. .
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4. Reduce the equation to the standard form and classify the surface.
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5. Find the domain of r(t) =< In(4 — 2), VT + £, sin(7wt) =.
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6. Find a vector equation for the curve of intersection of the surfaces r = y? and z = = in terms of the
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8. Find the points where the curve r(t) =< 1 —t, 12,12 > intersects the plane 5z — y + 2z = —1.
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9. Find parametric equations of the line tangent to the graph of r(t) =< e . t3.Int > at the point ¢ = 1.
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11. Let
r,(t) =< arctant.f, —t* >

and
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r2(§) = =<8 ~$.2Ing, ——

(a) Show that the graphs of the given vector-functions intersect at the origin.
(b) Find their angle of intersection at the origin.
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14. Find the length of the curve given by the vector function r(t) = cos® t i + sin® ¢ j + cos(2t) k._Il'} <t<Z. /
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15. For the curve given by r(

(a) the unit tangent vector T(¢)
(b) the unit normal vector N(t)

(d) the curvature
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